Wi Joe et L

1. we Know that

0 (Dx
b 822 220

(0 can o 200m by the dack Hak ¢ T T=N S
@”S)(X\vk § (T TY) ond i tsordindlio

@\3)’( - 9 ('aau ! 65133 )
R
Lot uo e e Motaliieis \Pm—_qg— amd awce. gﬁﬁ g_q)a@ﬁ
and aﬁ= a.m @"D: (‘Q"‘)E' We now tompulz
LI wfin~1\5 b am ' a™
lup O = La(y), (’9?(8- QL e ).f%_;a‘-mwaso&)

-2 (3;90a9%)
2 =)

now, '-P;(Pé rg ©), q;lfs Lg [9,%,“9 %“—g"gu)
and égw@-,)! @géjw\ ‘PEQ;= ! 5"'@ QD-;),QLP 5;3%"

—

aK‘ Le.] BSJQ (-D

87("

1
a



ond m‘mﬂw\lﬁ &am othun dunivaliice of the muttiL eompsmunts
Yoo .
To m%e»\'

¢ | La. 90k
(\apwar LP(PJGAK’*; K{&_a_f i-z;gr-"

d
-3 (o D%SWa
Lo

+ ‘ "ﬂ(({)")is (ﬁm ¢S 9“)5 +81mq)o\ 9@5 - 3j 9% ,‘N"/
3y e )

T A‘/\K+ Dk ::P{\“‘S NOT@?QZW\DO—T"

Byx BB YL YR oyeyw
R AR Y RS
ra#ok 9&101958 9583&“ ’2&3 ot
o) 3 |
9 2w -1 g X f 3
s y8 “ aak éu w )2 9\&' ¥

Y » 953

o 49"y, @)‘LQ@B ) 0% "/w
o4 i



) Kans
] T
<. N
" 1) R
yZ )
—V
DVXZ or K
— V s
Ix
\y]Z

Loy et
X.—
SN o, 7= %
. L | \Y,
)K | ) '3._
x_ ( — .
= ' |
R 1%3"_ a
rv'
. 0
K
£ V -0

- V'
‘(rj\tg*)
_vj((}:‘?x) \
"\L
J¥ 9
_ W> :+ rk )
* )ox -
_ r‘l

- afi
g
.+
F liy Om
Ty
9
. —Cie 0
< 39-3"‘

921
2
,LJ

._’—"

22!
9%
3

(‘af'o” "
JK
— gr
K (:& ™
+ 1|<
d >
(. 0
2

2]



?‘:)) Ry = 8" (Rigar)

- 641<- R ki - an’jﬂ-)

‘.'QQJKJ'L = QKQ
ALQ g = +6

¢ =0
Q L'*’VLngqm
Vm jK 1
b) V"R\ikml'\—
=0
Tl

VR \V; @? Vo R =0
=D K =
: 2 ¥ Vm'Kxd — Va
1q Km — |
1' QL= LQNKW\ ;MQ):_Q m .
=) ViR em o 95"V Rimn — 35 VR
d 6 . vffz1 Kml =

Q'. = YeR 'w
- V{' w .
N R
o

e Mo, 6 X a/
Lr)- t§= .
" =
-



